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How The 5th floors Bldg structure could be inclined
in —1%—6 degree by the explosion of Ad, Balloon in the room

by Ginn Huh

The primary court house judged that 5th floor’s Bldg, structure were inclined 1/150
degree to west—ward by Explosion of Ad, Balloon in the Room. Surveyor made the re-
port to denied the judgement of primary court. With evidently and Theoritically. but

It 1s waiting the juge of higher court house.

Explosion pressure A4p is as follows
Adp=4.2100X A~ 3¥=4.2100x 457" 38
=4.2100x%0.00487=0.02kg/cm?
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